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1. ›÷ýÛ ÐüÛé ˆ¶¦øÍ¤Öøà¡ö ÅÛà. ¸ÛÛé©ÛÛ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé ÍÛ×ïõÅÛà©Û ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û ¸Ûó¾ÛÛ¨Ûé ¼Û¶ÛÛÈÛé ™öé. ¶Ûà˜Ûé …Û¸ÛéÅÛ 
¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ©ÛÛ. 31-3-2014 ¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø ›÷ÄõÁõà ”ÛÛ©ÛÛ ©ÛíéýÛÛÁõ ïõÁõà ©Ûé¾Û¶Ûä× ©Ûé 
ÜþùÈÛÍÛ¶Ûä× ïõÛ˜Ûä ÍÛÁõÈÛíéýÛä× ©ÛíéýÛÛÁõ ïõÁõÛé. 20 

  

   ÜÈÛ•Û©Û `̀̀̀ 

˜ÛæïõÈÛéÅÛ ¾Û›æ÷Áõà (Š©¸ÛÛþùà©Û ¾Û›æ÷Áõà ` 90,000 ÍÛÜÐü©Û) 1,05,000 

ŠµÛÛÁéõ ”ÛÁõàþéùÅÛ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 90,000 

Š©¸ÛÛþù¶Û ¾ÛÛ¤éø …Û¸ÛéÅÛ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 81,000 

Áõà¸ÛéÁõá•Û ¾ÛÛ¤éø …Û¸ÛéÅÛ ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 4,000 

˜ÛæïõÈÛéÅÛ ïõÛÁõ”ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÙ    42,000 

Š©¸ÛÛþù¶Û ”ÛÛ©Ûé ºõÛÇÈÛéÅÛ ïõÛÁõ”ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÙ  60,000 

˜ÛæïõÈÛéÅÛ ÈÛÐüàÈÛ¤øà ”Û˜ÛÙ 27,600 

˜ÛÛÅÛä ïõÛ¾Û ”ÛÛ©ÛÛ¶Ûà …Û”ÛÁõ¼ÛÛïõà 21,000 

˜ÛæïõÈÛéÅÛ ÈÛé̃ ÛÛ¨Û ”Û˜ÛÙ 30,000 

©ÛíéýÛÛÁõ ¾ÛÛÅÛ ”ÛÛ©Ûé ºõÛÇÈÛéÅÛ ÈÛÐüàÈÛ¤øà ”Û˜ÛÛÙ 27,000 

ÈÛé̃ ÛÛ¨Û ”ÛÛ©Ûé ºõÛÇÈÛéÅÛ ÈÛé̃ ÛÛ¨Û ”Û˜ÛÛÙ 30,000 

ÈÛé̃ ÛÛ¨Û 2,60,000 

©ÛíéýÛÛÁõ ¾ÛÛÅÛ¶ÛÛé …Û”ÛÁõÍ¤øÛéïõ 20,000 

þéùÈÛÛþùÛÁõ ¸ÛÛÍÛé¬Ûà Š–ÛÁõÛ¨Ûà 2,50,000 

ÅÛé̈ ÛþùÛÁõÛé¶Ûé ˜ÛæïõÈÛéÅÛ 45,000 
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 Jay Ho Industries Limited uses Integrated Accounting System. From the following 

details prepare necessary accounts for the year ending 31
st
 March, 2014 and prepare 

Trial Balance thereafter : 

  

   Particulars `̀̀̀ 

Wages-paid (including ` 90,000 productive wages) 1,05,000 

Materials purchased on credit 90,000 

Materials issued to production 81,000 

Materials issued for repairs 4,000 

Factory overheads paid 42,000 

Factory overheads charged to production 60,000 

Administration Overheads paid 27,600 

Closing balance of work in progress 21,000 

Selling Expenses paid 30,000 

Administration Overheads charged to Finished Stock A/c. 27,000 

Selling expenses charged to Sales A/c. 30,000 

Sales 2,60,000 

Closing Stock of finished goods 20,000 

Collection from Debtors 2,50,000 

Paid to Creditors 45,000 

…¬ÛÈÛÛ/OR 

 ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ˜ÛÛÁõ¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 20 

 Answer any four of the following : 

 (1) ¾Ûäþù©Ûà ¸Û¦ø©ÛÁõ …¶Ûé ¸ÛéþùÛÉÛ ¸Û¦ø©ÛÁõ 

   Period cost and Product cost 

 (2) ÍÛ×¼Û×ÜµÛ©Û …¶Ûé …ÍÛ×¼Û×ÜµÛ©Û ¸Û¦ø©ÛÁõ 

   Relevant cost and Irrelevant cost 

 (3) ÍÛà¾ÛÛ¶©Û ¸Û¦ø©ÛÁõ …¶Ûé ©ÛºõÛÈÛ©Û ¸Û¦ø©ÛÁõ 

   Marginal cost and Differential cost 

 (4) ¸Ûó©ýÛ“Û ¸Û¦ø©ÛÁõ …¶Ûé ¸ÛÁõÛé“Û ¸Û¦ø©ÛÁõ 

   Direct cost and Indirect cost 

 (5) …×ïäõÉÛ¸ÛÛªÛ …¶Ûé ¼Ûà¶Û…×ïäõÉÛ¸ÛÛªÛ ¸Û¦ø©ÛÁõ   

   Controllable and Uncontrollable cost 
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2. (a) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û …×•Ûé¶ÛÛ ¼ÛµÛÛ ›÷ ÜÈÛ˜ÛÅÛ¶ÛÛé ÉÛÛéµÛÛé. 15 
   

¸Ûó¾ÛÛÜ¨Û©Û ”ÛÁéõ”ÛÁõ  

ÜïõÅÛÛé ½ÛÛÈÛ (`̀̀̀) Áõïõ¾Û (`̀̀̀) ÜïõÅÛÛé ½ÛÛÈÛ (`̀̀̀) Áõïõ¾Û (`̀̀̀) 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û – A 200 2.00 400 200 2.50 500 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û – B 100 5.00 500 220 4.00 880 

 ïäõÅÛ 300  900 420  1380 

¼ÛÛþù : ¶ÛäïõÉÛÛ¶Û 30   60   

 Š©¸ÛÛþù¶Û 270   360   

  Calculate all Material Variances from the following details : 

Standard Actual  

Kgs. 
Price           

(`̀̀̀) 

Amount 

(`̀̀̀) 
Kgs. 

Price           

(`̀̀̀) 

Amount 

(`̀̀̀) 

Material – A 200 2.00 400 200 2.50 500 

Material – B 100 5.00 500 220 4.00 880 

 Total 300  900 420  1380 

Less : Loss 30   60   

 Production 270   360   

 (b) ¾Û›æ÷Áõ ïõÛýÛÙ“Û¾Û©ÛÛ ÜÈÛ˜ÛÅÛ¶Û ÍÛ¾Û›ÛÈÛÛé. 5 

  Explain Labour Efficiency Variance. 

    …¬ÛÈÛÛ/OR 

 (a) ïõÛÁõ”ÛÛ¶ÛÛ ÜÍ¬ÛÁõ ÉÛàÁõÛȩ́ ÛÁõà ”Û˜ÛÙ …×•Ûé …éïõ ºéõî¤øÁõà¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé. ©Ûé¶ÛÛ ¸ÛÁõ¬Ûà ÜÍ¬ÛÁõ 
ÉÛàÁõÛȩ́ ÛÁõà ”Û˜ÛÙ¶ÛÛ ©Û¾ÛÛ¾Û ÜÈÛ˜ÛÅÛ¶ÛÛé ÉÛÛéµÛÛé. 15 

   

ÜÈÛ•Û©Û ”ÛÁéõ”ÛÁõ …×þùÛœ÷©Û 

ÜÍ¬ÛÁõ ”Û˜ÛÛÙ (`) 14,000 16,000 

ïõÅÛÛïõÛé 15,000 16,000 

ÜþùÈÛÍÛÛé 50 ÜþùÈÛÍÛÛé 40 ÜþùÈÛÍÛÛé 
Š©¸ÛÛþù¶Û (…éïõ¾ÛÛé) 1,000 …éïõ¾ÛÛé  

…éïõ¾Ûþùà¥ø ¸Ûó¾ÛÛÜ¨Û©Û ïõÅÛÛïõÛé  18 ïõÅÛÛïõÛé 

  The following are the details regarding a factory for its Fixed Overheads. 

Particulars Actual Budgeted 

Fixed Overheads (`) 14,000 16,000 

Hours 15,000 16,000 

Days 50 days 40 days 

Production (units) 1,000 units  

Standard hours per unit  18 hours 

  Calculate all Fixed Overhead Variances. 



KI-117 4  

 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà (1) ÈÛé̃ ÛÛ¨Û ¾ÛæÅýÛ ÜÈÛ˜ÛÅÛ¶Û, (2) ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ÜÈÛ˜ÛÅÛ¶Û …¶Ûé            
(3) ÈÛé̃ ÛÛ¨Û ›÷¬¬ÛÛ ÜÈÛ˜ÛÅÛ¶Û ÉÛÛéµÛÛé. 5 

¸Ûó¾ÛÛÜ¨Û©Û ›÷¬¬ÛÛé 400 …éïõ¾ÛÛé 
…éïõ¾Ûþùà¥ø ¸Ûó¾ÛÛÜ¨Û©Û Ýïõ¾Û©Û ` 20 

”ÛÁéõ”ÛÁõ ÈÛé̃ ÛÛ¨Û ›÷¬¬ÛÛé ¸Ûó¾ÛÛÜ¨Û©Û ›÷¬¬ÛÛ¶ÛÛ 80%  

…éïõ¾Ûþùà¥ø ”ÛÁéõ”ÛÁõ Ýïõ¾Û©Û ¸Ûó¾ÛÛÜ¨Û©Û Ýïõ¾Û©Û ïõÁõ©ÛÛ× 10% ÈÛµÛÛÁéõ 

  From the following information calculate Sales Value Variance, Sales Price Variance 

and Sales Quantity Variance. 

Standard Quantity 400 units 

Standard price per unit ` 20 

Actual sales quantity 80% of standard quantity 

Actual sales price per unit 10% more than standard price 

 

3. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé. 20 
 Answer any two of the following : 

 (1) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ïäõÅÛ ˜ÛÜÅÛ©Û ”Û˜ÛÙ¶Ûé ÅÛ–Ûä«Û¾Û ïõÁõÈÛÛ …Ûé¦ÙøÁõ ïéõ¤øÅÛÛ …éïõ¾ÛÛé¶ÛÛé ÐüÛéÈÛÛé 
›Ûé̂ …é ©Ûé¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 

  ÈÛÛÜÌÛÙïõ ¾ÛÛ×•Û/ÈÛ¸ÛÁõÛÉÛ : 1,000 …éïõ¾ÛÛé 
  …Ûé¦ÙøÁõ ¾ÛæïõÈÛÛ¶ÛÛé ”Û˜ÛÙ : ` 600 

  ÈÛÐü¶Û ”Û˜ÛÙ  : 30% 

  …éïõ¾Ûþùà¥ø ¸Û¦ø©ÛÁõ : ` 60 

  ›Ûé …Ûé¦ÙøÁõ¶ÛÛé ›÷¬¬ÛÛé 300 ïéõ ©Ûé¬Ûà ÈÛµÛä …éïõ¾ÛÛé¶ÛÛé ÐüÛéýÛ ©ÛÛé ”ÛÁõàþùà ¸ÛÁõ 10% ÈÛ¤øÛÈÛ ¾ÛÇé ™öé. 
  From the following details find out the quantity which should be ordered to 

minimize total variable cost : 

  Annual Demand/Consumption : 1,000 units 

  Ordering Cost per order : ` 600 

  Inventory carrying cost : 30% 

  Cost per unit : ` 60 

  10% discount in purchase price is available, if order is placed for 300 or more units. 

 (2) …éï •ÛóÛÐüïõ ï×õ¸Û¶Ûà ¸ÛÛÍÛé¬Ûà 7 ýÛ×ªÛÛé ïäõÅÛ ` 2,800 ¶Ûà Ýïõ¾Û©Ûé ”ÛÁõàþùÈÛÛ ¾ÛÛ×•Ûé ™öé. •ÛóÛÐüïõ¶Ûé ¾ÛÛÜÐü©Ûà 
¾ÛÇà ™öé ïéõ ï×õ¸Û¶Ûà…é …ÛÈÛä× ›÷ …éïõ ýÛ×ªÛ ©Ûé¶ÛÛ ÐüÁõàºõ¶Ûé ©ÛíéýÛÛÁõ ïõÁõà¶Ûé ÈÛé̃ ýÛä× ™öé. ¸Ûó¬Û¾Û ýÛ×ªÛ¶Ûä× 
Š©¸ÛÛþù¶Û ïõÁõÈÛÛ¶Ûà ¸Û¦ø©ÛÁõ ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

  ¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û (15 ïõàÅÛÛé ` 3 ÅÛé”Ûé) : `   45 

  ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà (50 ïõÅÛÛïõÛé ` 10 ÅÛé”Ûé) : ` 500 

  ïõÛÁõ”ÛÛ¶ÛÛ ”Û˜ÛÙ (¸Ûó©ýÛ“Û ïõÅÛÛïõ þùà¥ø ` 3 ÅÛé”Ûé) :   ` 150 

         695 

  ÍÛ×̃ ÛÛÅÛïõÛé ¾ÛÛ¶Ûé ™öé ïéõ 80% …µýÛýÛ¶Û ÈÛ’õ¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõÈÛÛ¶Ûà ©Ûïõ ÁõÐéüÅÛà ™öé. ›Ûé ï×õ¸Û¶Ûà …Û 
…ÛéºõÁõ ÍÈÛàïõÛÁéõ ©ÛÛé ©Ûé¶Ûé ¸Ûó©ýÛ“Û ¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û ¸ÛÁõ 5% ÈÛ¤øÛÈÛ ¾ÛÇé ©Ûé¾Û ™öé. ›Ûé …Û …Ûé¦ÙøÁõ 
ÍÈÛàïõÛÁõÈÛÛ¾ÛÛ× …ÛÈÛé ©ÛÛé ï×õ¸Û¶Ûà¶ÛÛ …×þùÛœ÷©Û ¶ÛºõÛ ïéõ ¶ÛäïõÉÛÛ¶Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 
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  A customer approaches company wanting to buy seven machines for ` 2,800, after 

news reached the customer that company has recently completed and sold a similar 

machine to a competitor. In determining the cost of the machine manufactured, the 

following cost data are available : 

  Direct Materials : 15 kgs at ` 3 per kg. : `   45 

  Direct Labour : 50 hours at ` 10 per hour : ` 500 

  Factory overheads (` 3 per direct labour hour) :   ` 150 

         695 

  Management believes that an opportunity to apply an 80% learning curve exists. 

Also if this offer is accepted, the company will be eligible for a 5% quantity 

discount on direct materials. 

  Show your calculations indicating the estimated profit or loss, if the offer is 

accepted. 

 (3) ï×õ¸Û¶Ûà¶ÛÛ ¸Û¦ø©ÛÁõ ÜÐüÍÛÛ¼ÛÛé ¾ÛÛ¤éø ¸Ûó©ýÛ“Û ïõÛ¾ÛþùÛÁõ ïõÅÛÛïõÛé¶Ûé …ÛµÛÛÁéõ ¸ÛÁõÛé“Û ”Û˜ÛÙ¶Ûà ÈÛÍÛäÅÛÛ©Û¶ÛÛé þùÁõ 
ÈÛÌÛÙ 2013 ¾ÛÛ¤éø ¶Û‘õà ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛÛé ™öé. ›÷é¶ÛÛ …×þùÛ›÷¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

 

ÜÈÛ•Û©Û …×þùÛœ÷©Û ”ÛÁéõ”ÛÁõ 

¸ÛÁõÛé“Û ¾Û›æ÷Áõà 1,50,000 69,000 

ˆ¶Í¸ÛéîÉÛ¶Û ”Û˜ÛÙ 50,000 70,000 

ïõÛÁõ”ÛÛ¶ÛÛ ÍÛä̧ ÛÁõÜÈÛ¡ö¶Û 60,000 81,000 

–ÛÍÛÛÁõÛé …¶Ûé Ü¶Û½ÛÛÈÛ 1,00,000 1,26,800 

ïäõÅÛ ïõÛÁõ”ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÙ 3,60,000 3,46,800 

¸Ûó©ýÛ“Û ïõÛ¾ÛþùÛÁõ ïõÅÛÛïõÛé 75,000 68,000 

ïõÅÛÛïõ þùà¥ø ¾Û›æ÷Áõà ` 15 ` 16 

  Š¸ÛÁõ¶Ûà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà ¸ÛÁõÛé“Û ”Û˜ÛÙ¶Ûà ÈÛÍÛäÅÛÛ©Û¶ÛÛé þùÁõ ¶Û‘õà ïõÁõÛé …¶Ûé ©Ûé¶Ûà …Ûé™öà-ÈÛÍÛäÅÛÛ©Û ïéõ 
…ÜµÛïõ-ÈÛÍÛäÅÛÛ©Û¶Ûà Áõïõ¾Û ¶Û‘õà ïõÁõÛé. ©Û¾Ûé …Ûé™öà ïéõ …ÜµÛïõ ÈÛÍÛäÅÛÛ©Û¶Ûé ¸Û¦ø©ÛÁõ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× ïéõÈÛà 
Áõà©Ûé ÍÛ¾ÛÛÈÛÉÛÛé ? 

 

  The cost accountant of a company limited determined the overhead recovery rate 

for the year 2013 (based on direct labour hours) with the following estimates. The 

following are the estimated and actual data : 

Particulars Estimated Actual 

Indirect Labour 1,50,000 69,000 

Inspection Expenses 50,000 70,000 

Factory Supervision 60,000 81,000 

Depreciation and maintenance 1,00,000 1,26,800 

Total factory overheads 3,60,000 3,46,800 

Direct labour hours 75,000 68,000 

Hourly wage rate ` 15 ` 16 

  Calculate overhead recovery rate and find out the amount of over/under absorption, 

if any. How will you treat the over/under absorption amount in cost accounts ? 
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 (4) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé – “ÍÛ¾ÛýÛ Ü¶ÛÁõà“Û¨Û …¶Ûé •ÛÜ©Û Ü¶ÛÁõà“Û¨Û”  
  Write short note on “Time Study” and “Motion Study”. 

 

4. (a) …éïõ ï×õ¸Û¶Ûà ÜÈÛÉÛé¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ™öé :   10 
   

ÜÈÛ•Û©Û ÈÛÌÛÙ 2012 ÈÛÌÛÙ 2013 

ÈÛé̃ ÛÛ¨Û (` ÅÛÛ”Û¾ÛÛ×) 30.00 45.00 

¶ÛºõÛé (` ÅÛÛ”Û¾ÛÛ×) 5.50 3.50 

ÈÛé̃ ÛÛ¨Û (…éïõ¾ÛÛé) 20,000 30,000 

Š©¸ÛÛþù¶Û (…éïõ¾ÛÛé) 30,000 20,000 

…éïõ¾Û þùà¥ø ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ` 150 ` 150 

…éïõ¾Û þùà¥ø ˜ÛÅÛà©Û ”Û˜ÛÙ ` 50 ` 50 

ÜÍ¬ÛÁõ ïõÛÁõ”ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÙ (` ÅÛÛ”Û¾ÛÛ×) 18.00 18.00 

…éïõ¾Ûþùà¥ø ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛé ¸Ûó¾ÛÛ¨Ûà©Û ¸ÛÁõÛé“Û ”Û˜ÛÙ ` 60 ` 60 

ÜÍ¬ÛÁõ ÈÛé̃ ÛÛ¨Û …¶Ûé ÈÛÐüàÈÛ¤øà ”Û˜ÛÙ (` ÅÛÛ”Û¾ÛÛ×) 2.50 2.50 

  ïõÛéÍ¤ø …éïõÛŠ¶¤ø¶¤ø ›÷¨ÛÛÈÛé ™öé ïéõ ¼Û×¶Ûé ÈÛÌÛÙ¶Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û¾ÛÛ× ïõÛé̂  ¶ÛÛêµÛ¸ÛÛªÛ ©ÛºõÛÈÛ©Û ¶Û¬Ûà. ©Û¾Ûé …Û 
ÍÛÛ¬Ûé ÍÛ×¾Û©Û ™öÛé ? ÜÈÛ•Û©ÛÈÛÛÁõ ÍÛ¾Û›ÛÈÛÛé. 

   

  Following are the data relating to a company : 

Particulars Year – 2012 Year – 2013 

Sales (` lacs) 30.00 45.00 

Profit (` lacs) 5.50 3.50 

Sales (units) 20,000 30,000 

Production (units) 30,000 20,000 

Sales price per unit ` 150 ` 150 

Variable cost per unit ` 50 ` 50 

Fixed Factory Overheads (` lacs) 18.00 18.00 

Standard Factory overhead per unit ` 60 ` 60 

Fixed selling and administrative overheads (` lacs) 2.50 2.50 

  The accountant states that there is no substantial difference between the positions 

for two years. Do you agree with it ? Explain in details. 

 (b) ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û …¶Ûé ÍÛ¾ÛÛÈÛéÉÛà ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛé ½Ûéþù ÍÛ¾Û›ÛÈÛÛé. ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛ 
ÅÛÛ½Û ›÷¨ÛÛÈÛÛé.   10 

  Differentiate between Variable Costing and Absorption Costing. Explain the 

advantages of Variable costing. 

…¬ÛÈÛÛ/OR 
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 (a) …éïõ ï×õ¸Û¶Ûà ¼Ûé ¸ÛéþùÛÉÛÛé ¼Û¶ÛÛÈÛé ™öé – ÈÛÍ©Ûä A …¶Ûé ÈÛÍ©Ûä B. ¼Û×¶Ûé ¸ÛéþùÛÉÛÛé¶Ûä× …éïõ ›÷ ¸ÛóïõÛÁ¶Ûà 
¾ÛÉÛà¶Û …¶Ûé ¸ÛóÜ’õýÛÛ¶ÛÛ …ÛµÛÛÁéõ Š©¸ÛÛþù¶Û ¬ÛÛýÛ ™öé. …Û …×•Ûé¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé.õ 10 

ÜÈÛ•Û©ÛÛé ÈÛÍ©Ûä – A ÈÛÍ©Ûä – B 

Š©¸ÛÛþù¶Û¶ÛÛ …éïõ¾ÛÛé  1,500 15,000 

ýÛÛ×ÜªÛïõ ïõÅÛÛïõÛé (¸ÛéþùÛÉÛ þùà¥ø) 3 3 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõ ïõÅÛÛïõÛé (¸ÛéþùÛÉÛ þùà¥ø) 5 5 

”ÛÁõàþùà¶ÛÛ …Ûé¦ÙøÁõ¶Ûà ÍÛ×”ýÛÛ 50 100 

•ÛÛé¥øÈÛ¨Ûà¶Ûà ÍÛ×”ýÛÛ  60 240 

…éïõ¾Ûþùà¥ø ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ ` 10 ` 10 

…éïõ¾Û þùà¥ø ¾Û›æ÷Áõà ”Û˜ÛÙ ` 20 ` 20 

  ›ä÷þùà ›ä÷þùà ¸ÛóÈÛèÜ«Û…Ûé¶Ûà ¸Û¦ø©ÛÁõ ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 
 `̀̀̀ 

›÷¬¬ÛÛ …ÛµÛÛÁõà©Û  : 1,81,500 

”ÛÁõàþùà …ÛµÛÛÁõà©Û  : 2,10,000 

•ÛÛé¥øÈÛ¨Ûà …ÛµÛÛÁõà©Û  : 2,68,500 

ïäõÅÛ 6,60,000 

  ¸ÛÁõÛé“Û ”Û˜ÛÛÙ…Ûé ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà ïõÅÛÛïõÛé ¸ÛÁõ …ÛµÛÛÁõà©Û ™öé. …éïõ¾Ûþùà¥ø …¶Ûé ïäõÅÛ ¸Û¦ø©ÛÁõ¶Ûä× ¸ÛªÛïõ 
¸Ûó̈ ÛÛÅÛàïõÛ•Û©Û ¸Û±ùÜ©Û…é …¶Ûé ¸ÛóÈÛèÜ«Û …ÛµÛÛÁõà©Û ¸Û±ùÜ©Û…é ©ÛíéýÛÛÁõ ïõÁõÛé. 

    A company manufactures two products namely A and B. Both products are 
produced with the help of same machinery and similar process. The detailed 
information about both the products is as follows : 

Particulars Product – A Product – B 

Units produced 1,500 15,000 

Machine hours per unit 3 3 

Direct labour hours per unit 5 5 

No. of purchase orders 50 100 

No. of setups 60 240 

Material cost per unit ` 10 ` 10 

Labour rate per unit ` 20 ` 20 

  The cost of various activities is as under : 

 `̀̀̀ 

Related to Volume : 1,81,500 

Related to Purchase : 2,10,000 

Related to setting-ups : 2,68,500 

 6,60,000 

  Overheads are based on direct labour hours. Prepare Cost Statement showing total 
cost and per unit cost under Traditional method and under Activity Based Costing 
(ABC) method. 
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 (b) “¸ÛóÈÛèÜ«Û …ÛµÛÛÁõà©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û …é ¸Ûó̈ ÛÛÅÛàïõÛ•Û©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶Ûà ÍÛ×̧ Ûæ̈ ÛÙ …ÈÛéœ÷ ™öé.” ©Û¾Ûé …Û 
ÜÈÛµÛÛ¶Û ÍÛÛ¬Ûé ÍÛ×¾Û©Û ™öÛé ? ©Û¾ÛÛÁõÛ ›÷ÈÛÛ¼Û¶ÛÛ ©ÛÁõºéõ¨Û¶Ûà þùÅÛàÅÛÛé ›÷¨ÛÛÈÛÛé.  10 

  “Activity based Costing is perfectly substitute of Traditional Costing.” Do you 

agree with this statement ? List out arguments in support of your answer. 

  

5. (a) Ü›÷©Û (JIT) …Ü½Û•Û¾Û …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ ºõÛýÛþùÛ ›÷¨ÛÛÈÛÛé.   10 

  What is Just-in Time Approach ? What are its benefits ? 

 (b) …é¾Û…ÛÁõ¸Ûà-1 …é¤øÅÛé ÉÛä× ? ©Ûé ˆ¶ÈÛé¶¤øÁõà ÍÛ×̃ ÛÛÅÛ¶Û¶Ûé ïéõÈÛà Áõà©Ûé ¾Ûþùþù ïõÁéõ ™öé ? 10 

  What is MRP-I ? How does it help inventory management ? 

…¬ÛÈÛÛ/OR 

 (a) ‘¾ÛæÅýÛ ÜÈÛÊÅÛéÌÛ¨Û’¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé. ©Ûé¶Ûà ïõÛýÛÙÈÛÛÐüà¶ÛÛ ÜÈÛÜÈÛµÛ ©Û¼Û‘õÛ…Ûé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 

  Explain the meaning of “Value Analysis”. Discuss various stages of its procedure. 

 (b) ‘¾ÛæÅýÛ ÜÈÛÊÅÛéÌÛ¨Û’¶ÛÛ ºõÛýÛþùÛ …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé. 

  Discuss advantages and limitations of “Value Analysis”. 

___________ 

            

 


